
                                                                                                                         
   
 
 
 
 
   
 
 
          
 
  

 

WHEEL RIM SCREWS 
P/N 90100 

INSTALLATION INSTRUCTIONS 
PARTS:  35 – Wheel Rim Screws 
 
1.  Mark and center punch eight locations evenly spaced  
     around the outer flange of the rim so the screws will  
     penetrate into the tire bead. 
2.  Drill the holes using a 13/64” drill bit. Leave enough roo  to 
     the edge of the rim to accommodate a 3/8” socket. 
3.  Deburr the holes, then mount and inflate tires to 25 psi.
4.  Use a 3/8” socket to install the screws through the rim and  
     into the tire bead. 
5.  Inflate/Deflate tire to normal operating pressure. 
NOTE: When installing the screws into the rim just snug 
them up. Over tightening will result in snapping the he d 
off the screw. 
REV. B                               121712  90100INST 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

WHEEL RIM SCREWS 
P/N 90100 

INSTALLATION INSTRUCTIONS 
PARTS:  35 – Wheel Rim Screws 
 
1.  Mark and center punch eight locations evenly spaced  
     around the outer flange of the rim so the screws will  
     penetrate into the tire bead. 
2.  Drill the holes using a 13/64” drill bit. Leave enough room to
     the edge of the rim to accommodate a 3/8” socket. 
3.  Deburr the holes, then mount and inflate tires to 25 psi. 
4.  Use a 3/8” socket to install the screws through the rim and 
     into the tire bead. 
5.  Inflate/Deflate tire to normal operating pressure. 
NOTE: When installing the screws into the rim just snug 
them up. Over tightening will result in snapping the head 
off the screw. 
REV. B                               121712  90100INST

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time

V i s i t  U s  A t  w w w . m o r o s o . c o m 

WHEEL RIM SCREWS 
P/N 90100 

INSTALLATION INSTRUCTIONS 
PA 35 – Wheel Rim Screws 
 
1.  nd center punch eight locations evenly spaced  
      the outer flange of the rim so the screws will  
     ate into the tire bead. 
2.  e holes using a 13/64” drill bit. Leave enough room to 
     ge of the rim to accommodate a 3/8” socket. 
3.   the holes, then mount and inflate tires to 25 psi. 
4.  3/8” socket to install the screws through the rim and  
      tire bead. 
5.  Deflate tire to normal operating pressure. 
NO hen installing the screws into the rim just snug 
the  Over tightening will result in snapping the head 
off rew. 
RE                            121712  90100INST 

MOROSO PERFORMANCE PRODUCTS, INC 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

80 CARTER DR • GUILFORD, CT 06437 
Phone: (203) 453-6571 • Fax: (203) 453-6906 

V i s i t  U s  A t  w w w . m o r o s o . c o m 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

V i s i t  U s  A t  w w w . m o r o s o . c o m 

                                                                                                                     
   

WHEEL RIM SCREWS 
P/N 90100 

INSTALLATION INSTRUCTIONS 
PA 35 – Wheel Rim Screws 
 
1.  nd center punch eight locations evenly spaced  
      the outer flange of the rim so the screws will  
     ate into the tire bead. 
2.  e holes using a 13/64” drill bit. Leave enough room to 
     ge of the rim to accommodate a 3/8” socket. 
3.   the holes, then mount and inflate tires to 25 psi. 
4.  3/8” socket to install the screws through the rim and  
      tire bead. 
5.  Deflate tire to normal operating pressure. 
NOTE: When installing the screws into the rim just snug 
them up. Over tightening will result in snapping the head 
off the screw. 
REV. B                               121712  90100INST 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 
 

 

MOR
80

Phon

V

 

 WHEEL RIM SCREWS 
P/N 90100 

INSTALLATION INSTRUCTIONS 
PARTS:  35 – Wheel Rim Screws 
 
1.  Mark and center punch eight locations evenly spaced  
     around the outer flange of the rim so the screws will  
     penetrate into the tire bead. 
2.  Drill the holes using a 13/64” drill bit. Leave enough roo  to 
     the edge of the rim to accommodate a 3/8” socket. 
3.  Deburr the holes, then mount and inflate tires to 25 psi.
4.  Use a 3/8” socket to install the screws through the rim and  
     into the tire bead. 
5.  Inflate/Deflate tire to normal operating pressure. 
NOTE: When installing the screws into the rim just snug 
them up. Over tightening will result in snapping the head 
off the screw. 
REV. B                               121712  90100INST 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

WHEEL RIM SCREWS 
P/N 90100 

INSTALLATION INSTRUCTIONS 
PARTS:  35 – Wheel Rim Screws 
 
1.  Mark and center punch eight locations evenly spaced  
     around the outer flange of the rim so the screws will  
     penetrate into the tire bead. 
2.  Drill the holes using a 13/64” drill bit. Leave enough room to
     the edge of the rim to accommodate a 3/8” socket. 
3.  Deburr the holes, then mount and inflate tires to 25 psi. 
4.  Use a 3/8” socket to install the screws through the rim and 
     into the tire bead. 
5.  Inflate/Deflate tire to normal operating pressure. 
NOTE: When installing the screws into the rim just snug 
them up. Over tightening will result in snapping the head 
off the screw. 
REV. B                               121712  90100INST

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time

ERFORMANCE PRODUCTS, INC 
ER DR • GUILFORD, CT 06437 
) 453-6571 • Fax: (203) 453-6906 

  A t  w w w . m o r o s o . c o m 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

V i s i t  U s  A t  w w w . m o r o s o . c o m 
RTS:  

Mark a
around
penetr
Drill th
the ed
Deburr
Use a 
into the
Inflate/
 

RTS:  

Mark a
around
penetr
Drill th
the ed
Deburr
Use a 
into the
Inflate/
TE: W
m up.
 the sc
V. B    
 

m

 

 

m

 

a

OSO PERFORMANCE PRODUCTS, INC 
 CARTER DR • GUILFORD, CT 06437 
e: (203) 453-6571 • Fax: (203) 453-6906 

 i s i t  U s  A t  w w w . m o r o s o . c o m 

MOROSO P
80 CART

Phone: (203

V i s i t  U s


